14MAT21

at least ONE questton from each part.

Module 1
4
Solve : _d_z_ + a4y =0. ) (06 Marks)
dx - .
Solve : (D -2)*y = 8(e™ + sin 2%+ x%). “ (07 Marks)
W 2
Using the method of variﬁ*tlon of parameters solve i%/—-k 4y =tan2x. (07 Marks)
dx
Solve (D* +4D° 51);5 —36D — 36)y = 0. (06 Marks)
) oy, = 4 .
Solve : -d—% + 4y X sin X +sin 2x . 6 3 (07 Marks)
dx:
Solve by the method of undetermlned coefficients (D* — 2D)y =¢" sin x. (07 Marks)
Module-2
2
Solve : ng%l dy +ys - logx . '7 (06 Marks)
dx
Solve : P +2 pycotx= y2 ‘ ' (07 Marks)
Find the general and smgular solution of the equatlon sin pxcesy =cospxsiny +p.
iy ~ , (07 Marks)
ax &0
Solve : H?_'7X+y =0, (06 Marks)
Solve © (1 e (1 4 x) + y= 2sm{log(1 e x)} (07 Marks)
dx?
Solve : y —2px = tan- (x p ) o " (07 Marks)
Module-3
D ,
Solve : Z, =sin xsin y for Which“ﬁg =-2siny when x = 0 and z = 0 when y is an odd
Ox0y S )
multiple of —725 ’ (06 Marks)
I ou_ 0%
Obtain the solution of one dimensional heat equation i o == by the method of
0x
separation of varlables (07 Marks)
2 51 2 .
LVl-xi A 1-X y dz dy dx 4
(07 Marks)

Evaluate : | | .
va uateﬁ‘“i _([ J(; '(E \/1 - X2 B y2 - Zz
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Form the partial differential equation by ellmmatmg the arbltrary function form :

Z =y f(x) + x gy o (06 Marks)
22 5 oz Loy oz
Solve == =a“z given that when x =0, —=asiny and —=0. (07 Marks)
ox’ ox 4y oy
12-x
Change the order of integration in I j (07 Marks)
0 X2
Module-d
Find the area of the ellipse -— =1, by double integ;rﬁ‘atiotl. (06 Marks)
T :
Prove that B(m,n) = M ~ (07 Marks)
F(m +n)
Express the vector zi— 2xj +yk in cylmdrxcal coordmates (07 Marks)

Find the volume generated by the revolutlon of the Cardioide r = a(1 + cos 0) about the
initial lme (06 Marks)

/ | V o4 .

d
Provethat |+/sin6 dO x - =T 07 Marks
J '([ \sing. ( )
Prove that Spher1ca1 polar coordmate system is orthogonal A (07 Marks)
4 k Modﬁle-S
Find L{G:_t E?—t—} o (06 Marks)
Where f(t +2m) = (t) find L{f(t)} b (07 Marks)
Usmg convolution theorem evaluate L~ ——E—S——— . (07 Marks)
(s +a )
Find : L (J— i — (06 Marks)
i '\/{ gV I ¥ %% '2; i Ag
Cl : = T p { a}
" aaNGALORE - Y Ot
7 |sint HANGALOE
Express f(t) = .
cost, Aol
interms of unit step function and hence find L{f(t)}. (07 Marks)
Solve : y" + 2y" y 2y 0, using Laplace transforming with y(0) =y "0)=0, y'(0)=6.
"N 07 Marks)
% %k sk sk ok
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